
Time: 30 Minutes Paper Math 8 (T-6) Total Marks: 25

3rd Month, 1st Week, 6th Day Revision Test (1st Week)

 Choose the correct Options (1 ×13 = 13) 
(1) Convert Rs. 70000 into US Dollar.  70000

(a) US$ 386.35 (b) US$ 390.65 (c) US$ 385.25 (d) US$ 395.75

(2) Convert Rs. 48000 into indian Rupee.  48000

(a) 2355.42 INR (b) 23645.32 INR (c) 2365.42 INR (d) 2375.32 INR

(3) If the selling price is higher then the cost price is called .


(a) Percentage  (b) Profit  (c) Loss  (d) Profit%age 

(4) Ahamed bought a bicycle for Rs. 2000 and sold it for Rs. 22 the profit
percentage is :

 2200  2000 
(a) 20% (b) 15% (c) 10% (d) 40%

(5) If the cost price of a item is Rs. 450 and sold it Rs. 370. What is the loss?

 370  450 
(a) Rs.80  80 (b) Rs. 70  70 (c) Rs. 50  50 (d) Rs. 60  60

(6) To start partnership business what should be the minimum number of

partners? 
(a) 4 (b) 2 (c) 8 (d) 6

(7) When person dies then the assests left by him are called:


(a) Profit  (b) Markup  (c) Inheritance  (d) Loss 

(8) Share for the son in the inheritance is ______ than the daughter's share.


(a) Half  (b) Equal  (c) Double  (d) Triple 

(9) How  many principals of distribution of inheritance in Islam?


(a) 3 (b) 2 (c) 1 (d) 5

(10) What is the next number in sequence: 1,3,6,10______?

 10,6,3,1

(a) 12 (b) 14 (c) 15 (d) 16

(11) Which term of an arithmetic sequnce 3,8,13,___________ is 83.

 83  13,8,3

(a) 10 (b) 13 (c) 17 (d) 21

(12) Which numbers comes next in the sequence 5,10,15,20,______?

 20,15,10,5

(a) 25 (b) 30 (c) 35 (d) 40

(13) What is the number in the sequence 2,4,6,8_________?

 8,6,4,2

(a) 10 (b) 9 (c) 11 (d) 12

 Answer the following questions: (2 × 4 = 8)  
1. Convert Rs. 50,000 into Canadian Dollar. (1 Canadian Dollar = Rs. (142.50)

 142.50  1  50,000
2. The marked price of an article is Rs. 3000. Discount on this article is

20%. Find the selling price of the article.

 20  3000 
3. Amina and Maryam started a business with investment of Rs. 30,000

and Rs. 40,000 respectively in one year. At the end of the year they
earned a profit of Rs. 84,00. Find the share of each one.

84,00  40000  30000 


4. At what annual rate of price would amount of Rs. 5,800 will increase to
Rs. 7,105 in 3 years, time?

 7105  3  58,00 
Q.3. A man has a car of worth Rs. 1400000. He got it insured for a period of

2 years at the rate of 4.5%. The depreciation rate is 10% per year. He
has to pay the premium yearly. ?Find the total amount of premium he
to pay for a period of 2 years. (1×4=4)

 2  4.5%  1400000 
 2  10% 


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